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FACULTY OF HUMANITIES
B.A.S.Y. (Sem-1V)
Examination March / April - 2023
Sociology - VII (Population in India)

[Time: 1:30 Hours] [Max. Marks: 50]
Please check whether you have got the right question paper.
N. B 1) All questions are compulsory.
2) Use blue or black pen only.
3) Use pencil for diagram.
4) Use of any signs, attraction attention is prohibited.
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Q1 A) Fill in the blanks (attempt all) 05
1. In the family planning programme was started in India.
2. The Temperature has been raised due to the thinness of Layer.
3. The population of china was in 2000.
4. Indiais located in continent.
5. The sex Ratio of Indian population was in 2011.
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B) Answer in one sentence (attempt all) 05
What is fetal mortality?
What is sex ratio?
What is the age group of productive population?
How many years after the census is one in India?
When the world Population day is celebrated?
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Q2 A) Explain concept / terms / units \ events (any two). 10

1. Female foeticide.
2. Pre-Industrial stage of population transition.
3. Population growth and Environment.
4. Family planning programme.
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B) Write answer in short (any two) 10
1. State the social factors affecting frailty.
2. Write the causes of growth of population.
3. Explain the factors, affecting Age structure.
4. Discuss the post Industrial stage of population transition
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Q3 Write answer in detail (any one) 20
1. Write an essay on New Population Policy.
2. Define old age and discuss in detail the problems of aging.
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